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CtpoeHue Artax HasHauyeHue | lMnowaab
26 aHTpeconb 1 KabuHeTt 23,7
26 aHTpeconb 1 KabuHeT 20,3
26 aHTpeconb 1 KabuHeTt 12,7
26 aHTpeconsb 1 Kopugop 20,8
26 aHTpeconb 1 KabuHet 33,9
26 aHTpeconb 1 KabuHeTt 8,0
26 aHTpeconsb 1 Tyanet 1,4
26 aHTpecorb 1 Tyanet 1,3
26 aHtpecornb 1 | YmbiBanbHas 2,1
26 aHtpecornb 1 | YmbiBansHas 1,9
26 aHTpeconb 1 KabuHeTt 27,9
26 aHTpecons 1 Kopuaop 14,2
26 aHTpeconb 1 KabuHeT 16,0
26 aHTpeconb 1 KabuHeTt 14,8
26 aHTpecons 1 Kopugop 13,6
26 aHTpeconb 1 KabuHeT 73,4
26 aHTpeconb 1 | YmbiBansHas 2,0
26 aHTpecons 1 Tyanet 1,4
26 aHTpecornb 1 Tyanet 1,3
26 aHTpeconb 1 | YmbiBanbHas 2,0

Wtoro 292,7




